Finding a Turning Point by
Completing the Square
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REVISE THIS
TOPIC

The equationofacurveis y=X2+2X+7
By completing the square, working out the coordinates of the turning point.
You must show your workmg [3 marks]

x«-t) -1 +F
= (y+ 1)+ 6

Answer ( -—( , 6 )

The equationof acurveis y=X2+6X+ 13
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(14—3) -9+ \3
(+3)“+k

Answer ( —3 , L‘—

The equationof acurveis y=x%2-10x+ 29
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(x-5)>-25+29
(-5)"+4%

Answer ( 5 , L\'
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The equationof acurveis y=x2-2X-7
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(x-1)= -7

= (2-1)*-%

Answer ( l : -g )

The equationof a curveis Yy =x?+12x + 40
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(x+6) -36 44D
= (x26)+ 4

Answer ( "'6 , LI’

The equationofacurveis y=x2-3x+4
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(x-2)-24 + 4

(

Answer (

The equationof acurveis y=%x2-5x-9
By completing the square, working out the coordinates of the turning point.
You must show your working. [3 marks]

(x -5 %) -% ‘°1

(x-94)% - 3} -

W

St
- (x-%1)%-2¢ cl
Gl
Answer ( /Z, ,_ ﬁ)
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A curve with equation y=x?+bx +Cc has a turning point at the point (4, -2)
Work out the value of b and c.

[3 marks]
(a-4)"-2
= e-4 Y u-u)- L
= X -bx-4x +lb-L

~

> - fa +Il
b= ‘8 c= ‘L\’

A curve with equation y=x2+ bx + ¢ has a turning point at the point (-4, 9)
Work out the value of b and c.

(J(_+Lﬂl-t°\ | |
= (x+4)x+w) +4
i Sult 1y Fee | |
= x* +8x ¥2S

= B - XS

10

A curve with equation y=x? +bx + ¢ has a turning point at the point (-3, -3)
Work out the value of b and c.

(1 ; 3)1- ) 3 [3 marks]
= (x €3N +3)-3

= xt+ W +2x +q’3
= Lt bx+ 6

- b 8

c=
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